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 
– 


 

 
 
 

the atom and unanswered question 




 
 
 
 
 



 

 
the nature of light 

the wave nature of light 



 


 



–– 
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wavelength 
lambda (λ)mcmnm(1nm = 1x10-9m) 
equencyfr

ν)( nu HzHz
1/ss-1s-1 

1- s183 
183/s183Hz 
width of the wave: 
 
speed of the wave: 

C3x108m/s 
 

 
 
 


 

 
 

 
 
 


 

 
m/s C= λ ν 

ν= C/ λ Hz or s-1 
λ=C/ν m or cm or nm 



–– 
 

 ٤

 nature of lightthe particle 





 

 



 
 








 
E quantum = h ν J 

hh S. J34-10x6.626 
 

The Photoelectric Effect





 
E photon = h ν J 

 



–– 
 

 ٥

atomic emission spectra




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